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7 100kN/m%#8%2% | 1.00 | 000 ~ 392| 16391 |3mE{BZ%| 000 ~ 231| 4.09 20.66 | 100kN/m%ZE#BZ% | 1.00 | 1054 ~ 90.49| 16391 |3mERBZD| 2500 ~ 90.49 | 4.09 20.66
s 1.00 | 392 ~ 1170 100.00 | NS | 231 ~ 11.70] 3.00 15.16 Zh st 1.00 | 6.00 ~ 10.54 100.00 | =nLs | 6.00 ~ 2500 3.00 1516
2 100kN/m##8%2%5 | 1.00 | 000 ~ 376 161.00 |3mEFBZ%| 000 ~ 220| 4.01 20.25 | 100kN/m#%i#8z25% | 1.00 | 1054 ~ 8260| 161.00 |3m&E#BZB| 2500 ~ 8260 4.01 20.25
s 1.00 | 576 ~ 11.54 100.00 | #nLSY | 220 ~ 1154 3.00 156.16 Zh st 1.00 | 5.00 ~ 1054 100.00 | =hLSt | 6.00 ~ 2500 3.00 15.16
3 100kN/m##8x5 | 1.00 | 0.00 ~ 401 165.56 |3m%E#BZ25| 000 ~ 243 419 21.19 | 100kN/m%#Bz25% | 1.00 | 1065 ~ 6090 165.66 |3m&EBZB| 2500 ~ 60.90| 4.19 21.19
s 1.00 | 401 ~ 1179 100.00 | EnLS | 243 ~ 11.79| 3.00 15.16 st 1.00 | 6.00 ~ 1065 100.00 | THLS | 65,00 ~ 2500 3.00 1516
4 100kN/mM%E#BZ5 | 1.00 | 000 ~ 394 164.35 |3mZE#BZ 5| 000 ~ 259|416 21.00 | 100kN/m#%#Bz25 | 1.00 | 1060 ~ 5502| 164.55 |3m&EBZSB| 2500 ~ 55.02| 4.16 21.00
s 1.00 | 394 ~ 1173 100.00 | NS | 239 ~ 11.73] 3.00 15.16 st 1.00 | 6.00 ~ 1060 100.00 | THLS | 65,00 ~ 2500 3.00 1516
5 100kN/m##8x5 | 1.00 | 0.00 ~ 381 161.97 |3mZE#BZ25| 000 ~ 147 374 18.91 | 100kN/mM#%i#B%25% | 1.00 | 1057 ~ 44.91 161.97 |3mE#BZB| 2500 ~ 44.91| 8.74 18.91
s 1.00 | 381 ~ 1159 100.00 | LS | 1.47 ~ 1159] 3.00 15.16 st 1.00 | 6.00 ~ 1057 100.00 | THhLS | 6,00 ~ 2500 3.00 1516
P 100kN/m%E#BZ5| 1.00 | 000 ~ 276| 14353 |3mEBZB| — ~ — — — | 100kN/mM%E#Z25 | 1.00 | 1057 ~ 2483 143.53 |3mEEZ5 - ~ — — —
s 1.00 | 276 ~ 1054 100.00 | ENLS | 000 ~ 1054| 2.65 13.41 FhnLst 1.00 | 6.00 ~ 1057 100.00 | ThUS | 6,00 ~ 2483| 2.65 13.41
- 100kN/m%E#Bz25| 1.00| 000 ~ 170 126.10 |3mEEBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1061 ~ 1697 126.10 |3mE#BZ5 - ~ — — —
Thilst 100|170 ~ 949 100.00 | ThL4 | 000 ~ 949 | 2.31 11.67 TnList 1.00 | 500 ~ 1061 100.00 | =hilst | 5.00 ~ 1697 2.31 11.67
3 100kN/m%E#Bz25| 1.00 | 000 ~ 040| 10587 |3mEEBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1053 ~ 11.62| 105.87 |3m&E#BZ5 - ~ — — —
Thilst 100|040 ~ 818 100.00| Fnhbs | 0oo ~ 818 2.18 11.02 TnList 1.00 ] 5600 ~ 1053 100.00| TnLS | 5,00 ~ 11.62| 2.18 11.02
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




